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N
1.3
% kN/m? 19.00
yc kN/m? 24.50
1.4
D
EhiE T EAREK a =1.0+0. 207(13_
D : m
Bo: BOX m
Ko = 0.500
pHI = 5.00 (kN/m?)
1.5
ks = 10.0 (kN/m®)
B = kh/ks = 2.000
kh :
ks :
B o=kv/ks = 4.000
kv :
ks :

v

o]

)

2

FORUMS8



1.6

1.7

o ck | N/mm? 30.00

oca| N/mm 10.00

oca| N/mm’ 10.00

oca| N/mm’ 7.50

*1 |t al| N/mm’ 0.25

*2 |t a2 | N/mm’ 1.90

Ec N/mm* 2.80 x 10°

—_— — SD345

osa| N/mm’ 180.00

osa| N/mm’ 200.00

( Es n — 15.0

*1
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(mm) (mm) (mm) (mm)
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LBl | 1m2 | LB3| LB4
B11 . Bl
: LB
Bl
3 7 1:N
D i :
D
A4 -
Ho| ‘
!
Lo
0 = 70.0000 ( )
Bo = 5.800 (m)
Ho = 6.350 (m)
D = 2.000 (m)
n = 1.800
LWB : = 6.000 (m)
O WB : = 70.0000 ( )
TWB : = 0.400 (m)
LA = Lo + (Bo/2) cotB = 11.056 (m)
LA2 =D n cosec6 = 3.831 (m)
LAL = LA - LA2 = 7.224 (m)

= 10.000 (m)
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LB
Bl
B11
LB1
LB2

NB
LB3
LB4

n cosecO® = 1.91552 (
Lo - (Bo/2) cot® = 8.944 (m)

LWB cosB WB + TWB (cosecB WB - sin® WB) =

LB - B1 = 6.604 (m)

LB - LA2 = 5.113 (m)

B11 - LB1 = 1.490 (m)

D - LB2/N = 1.222 (m)

B1/(D' + Ho) = 0.30916

D NB = 0.378 (m)

Bl - LB3 (sHo NB) = 1.963 (m)

2.341 (m)
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006, 08,
0 0
K6b =
o0, 00,
0 0
. .U
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02 (MX)
61 (Mz)
v(Y)
63 (My)
w
)
3.1 X
(@A
LAl LA2
VA
A
Hm

v
X

LA

OM =y +8; 2
aA = 4JAC/AA = 0.909

AC : = 58.000 (m?»)
AA A = 70.203 (m?)
Hn = 8.350 (m)

oA
UIA=—— ffhi+ d p’+dz-d
o ffhi u 7 + dx

FORUMS8



€h)
hi = Hm - z
al o )
UlAl = — f § Hm-2)(p + 85+2) +dz-dx
2Hm ~0 0
= A Al Ho e (- 22t 4 Hom - = - H o
2Hm ° ST R G T K
H H
Faol =~ g
3 4
oA Ho
K11(1A1) = — < LAl +Ho* |Hmn - —) = 25. 84
Hm 2
oA 2
K16(1A1) = —— LAl + Ho * Ho[Hm - — « Ho| = 65. 27
2Hm 3
oA , [ Hm Ho
K66 (1A1) = —— < LAl + Ho * Ho*[— - —) = 240. 80
Hm 3 4
@
x
hi =Hm - — - 2
N
al 1w o )
U1A2=—2HmfO ; Ho - — = z|(u + 65+ 72) dz « dx
ol Ho LA2 , 2 LA2
= — +[A2+Ho* {[Hmn - — - — | u*+ HolHm - — +Ho - — | &
2Hm 2 2N 2N
H H LA2
;o Hot( ™ Ho A2 2
3 4 6N
a A Ho LA2
K11(1A2) = — < LA2+Ho* (Hn - — - —| = 11. 06
Hm 2 2N
a A 2 LA2
K16(1A2) = — < LA2 *Ho * Ho[Hm — — *Ho - —| = 26. 20
2Hm 2N
a A ,{ Hm Ho LA2
K66(1A2) = — + LA2 *Ho * Ho*|— - — - —| = 92. 10
Hm 3 4 6N

+ 0
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(b)B

LB1 LB2 L B4

Ha @

v
><

O =y +8; z-06., Bo
aB = {AC/AB = 1.011

AC : = 58.000 (m?»)
AB : B = 56.797 (m%)
Hm = 8.350 (m)
HB = 7.572 (m)

aB
UIB = 22 (fhi+ § p?-dz - dx
2t K

FORUMS8
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€Y)

hi = Hm

UlB1 =

K11 (1B1)

K14 (1B1)

K16 (1B1)

K44 (1B1)

K46 (1B1)

K66 (1B1)

-z
aB )
—2Hmj0 fo (Hn — z)(p + 852 — B8,+Bo) +dz-dx
“B oo ([ = )t hofm - 2o 0
L2, . . m - — m - = . .
2Hm ° g M T CI R
2 HO 2
+BO(HO‘2HHI),U'Q1+BO Hm—? 0.
2 ,{ Hm Ho ,
+ Bo+Hol— *Ho — Hm| 8:° 65 + Ho*|— — —| 8}
3 3 4
o B Ho
= —+IBl+*Ho+ |Hm - —| = 20. 34
Hm 2
o B
= —— +1Bl *Ho*Bo(Ho — 2Hm) = -117.95
2Hm
o B 2
= —— + 1Bl *Ho * Ho[Hm — — « Ho| = 51. 36
2Hm 3
o B ) Ho
= —— + LBl *Ho *Bo’[Hm — —) = 684. 10
Hm 2
o B 2
= —— +1Bl +Ho+*Bo~*Ho|— *«Ho — Hm| = -297. 90
2Hm 3
o B , [ Hm Ho
= — Bl *Ho* Ho’|— - —| = 189. 48
Hm 3 4
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@

X
hi =Hn - — -z
N

viB2 = 22 0 5" i - - )+ 0 6,Bo)’ -dz-d
= oHm ¢ 0 m N Z u 3 * Z 1 0] Z X
oB Ho  1B2) 2 1B2
= 22 L IB2 - Ho e {[Hn - — — ——|u? + Holtm — — <Ho ~ ——|p - 0
2Hm 2 2N 3 2N
1B2 , Ho  1B2
+ BofHo = 2l + —— | + 01 + Bo'(Hn — — ~ —— 0
N 2 N
1B2 JHm Ho  LB2Y
+BoHo|— +Ho — Hm + ——| 1+ 04 + Ho'[— - — - ——] )}
2N 46N
aB Ho LB2
KI1(1B2) = ~— « B2 - Ho « [Hn ~ — — —| = 5. 48
Hn 2 N
oB 1B2
K14(1B2) = —— « LB2 - Ho » Bo[Ho ~ 2Hm + ——| = 31,79
2Hm N
oB 2 1B2
KI6(1B2) = —— « LB2 + Ho » HolHm — — +Ho — ——| = 13.55
2Hm 3 2N
aB ) Ho LB2
KA4(1B2) = ~— « 1B2 + Ho » Bo'[lim — — — ——| = 184,36
Hn 2 2N
oB 2 1B2
K46 (1B2) = —— « LB2 + Ho » Bo + Ho[— +Ho — lin + ——| =  ~78.61
2Hm 3 2N
oB JHn Ho  LB2
K66 (1B2) = ~— « LB2 + Ho » Ho'[ - - — - ——| = 49,93
Hn 35 4 6N
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®

X
hi =HB - — -z
NB
o aB o w b )
UIBS——ZHmfO fo HB—E—Z(u+93'Z—91'Bo) +dz * dx
o B Ho LB3 ) 2 LB3
= —+IB3+Ho+ {[HB- — - — | u*+Ho|lHB- —+Ho - —|u 3
2Hm 2 2NB 3 2NB
LB3 ] Ho LB3
+ Bo|lHo - 2HB + —|pu *+ 0, + Bo’[HB - — - —| 0/
NB 2 2NB
LB3 . 1B Ho
+Bo+Hol[—+*Ho -HB + — |8, 6;: + H*'| — - — -
2NB 3 4
o B Ho LB3
K11(1B3) = — «IB3+*Ho+* [HB - — - —| = 1.10
Hm 2 2NB
oB LB3
K14(1B3) = — < LB3 * Ho * Bo(Ho — 2HB + —| = -6. 38
2Hm NB
oB 2 LB3
K16(1B3) = — < IB3 +Ho *Ho[HB - — *Ho - —| = 2.51
2Hm 3 2NB
o B ) Ho LB3
K44(1B3) = — «IB3 +Ho * Bo*(HB - — - —| = 36. 98
Hm 2 2NB
oB 2 LB3
K46(1B3) = — *IB3+Ho*Bo+*Ho|— *Ho - HB + —| = —14. 58
2Hm 3 2NB
oB ,{ 1B Ho LB3
K66(1B3) = — +1B3 +Ho * Ho!|— - — - —| = 8.58
Hm 3 4 6NB
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©)

X
hi =Ho - — -z
NB
_aB Hof(NX—B) X )
UIB4—%J"U jo HO—E—Z(U+93'Z—31'BO)
_«B LB4 (Hoz ) Bo * Ho? 0.+ Ho® 0
2Hm H 3 ST
Bo® « Ho' ) Bo * Ho’ Ho!
+ 61 - . 61 93 + —
6 12 60
aB o’
K11(1B4) = — +LB4+ — = 1. 60
Hm
aB Bo + Ho?
K14(1B4) = —— + LB4 = -9. 26
2Hm 3
o B Ho®
K16(1B4) = —— < LB4+ — = 2.53
2Hm 12
aB Bo? * Ho®
K44(1B4) = —— < LB4 -+ = 53.71
Hm 6
aB Bo + Ho®
K46 (1B4) = ——— + LB4 = -14. 70
2Hm 12
aB Ho!
K66(1B4) = — +LB4+ — = 6. 44
Hm 60

s dz ¢ dx
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3.2 X
Bo @
y LB L AB
Oy = -0, vy
Pv Pvi\ 1
U2 = —(— + — foutedy-d
2Hm(v VC)AC ot dy-dx
Pv (kN)
vl =Bo (LB - LA2) D = 59.316 (m°)
v2 = (1/2) (LA - LB) Bo D= 12.244 (m°)
v3 = LA2 Bo (D/2) = 22.220 (M%)
V =vl +v2 +v3 = 93.780 (m*)
D=V/AC = 1.617 (m)
a = 1.0+ 0.207(D/Bo) — 0.0143(D/Bo)? = 1.057
Pv=a V y = 1882.662 (kN)
Pvi : (kN)
vl=(1/2) (LA +LB) Bo Tl = 23.20 (m%)
v2 = (1/2) (LA +LB) Bo T2 = 26.10 (n°)
L=LA-AL
AL =Xl cotb
V3=Xl H(L+AL/2) = 24.16 (m°)
L = LB
AL = X3 cotb
vA=X3 H(L+AL/2) = 19.84 (m)
L=LA- (XL + W) cot
AL =Wl cotb
V5 = W1 HI{(L/2) + (AL/3)} = 0.22 ()
L = LB + X3 cotb
AL =W2 cotb
V6 = W2 H2{(L/2) + (AL/6)} =  0.18 (m)
L =LA - (XL + W3) cotd
AL =W3 cotb
V7 = W3 H3{(L/2) + (AL/3)} = 0.22 (m)
L = LB + X3 cotb
AL =W4 cotb
v8 = W4 H4{(L/2) + (AL/6)} =  0.18 (m°)
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T1 : = 0.400 (m)

T2 : = 0.450 (m)

Ho: = 5.500 (m)

X1 - = 0.400 (m)

X3 : = 0.400 (m)

Wl = 0.200 (m)
HL - = 0.200 (m)
w2 - = 0.200 (m)
H2 - = 0.200 (m)
W3 : = 0.200 (m)
H3 - = 0.200 (m)
Wa - = 0.200 (m)
H4 - = 0.200 (m)

V = Zvi= 094.100 (m*
Pvi =V y c = 2305.450 (kN)

@
1 Pv Pvi\ 1 18 .mo )
U21 = — + — - 6, dy < d
Zm(v WJMJUX<U ) dy - dx
1 [Pv Pvi) 1 Bo*
= —|— — +Bo-LB|pu?-Bo-p 0+ —- 8¢
2Hm \ v yec | AC 3
1 [Pv Pvi) 1
K11(21) = —(|— + — +Bo LB = 20. 69
Hm \ v yec | AC
1 [Pv Pvi) 1 )
K14(21) = ~——(— + — +Bo" LB = -60. 01
2Hm \ vy
1 [Py Pvi\ 1 Bo® - LB
K44(21) = —|— + —|— = 232. 05
Hm \ v yec | AC 3
@
Bo
B = Bo- * X
LAB
LAB = LA - LB = 2.111 (m)
1 /P Pvi\ 1 o[22 -
022 = —— + —|— " XB(LAB)(U—Ql-y)Z-dy-dX
2Hm |\ v ye/AC 0 0
1 [Pv Pvi) 1 1 Bo*
= —— + — *Bo*LAB|— =+ u*-Bo-p =0, + — =+ 0}
2Hm \ ve | AC 2 12
1 [Pv Pvi) 1
K11(22) = —|— + — +Bo * LAB = 2. 44
2Hm \ yec | AC
1 [Pv Pvi) 1 )
K14(22) = ——(— + — +Bo"» LAB = -14. 16
2Hm \ yec | AC
1 [Py Pvi\ 1 Bo® + LAB
K44(22) = —|— + —|—+ — = 13.69
Hm | v yec | AC 12
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3.3 Y
(A

LA

- ah
B ol i 502 ds - dx
2Hm

B = kh/ks = 2.000

U3A =

FORUMS8
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€h)
hi = Hm - z
O0v = v + Bix+ 0,2
B aA 1w K ,
U3Al = — § F  Hm - 2)(v + B, x+ 0,°2) +dz-dx
2Hm 0 0
B+ aA Ho ) Ho
= —— «LAl*Ho {|{Hn - —|+v* + LAl(Hn - —|v + 6,
2Hm 2 2
2
+H0(Hm— E'Ho)v -0,
1
+ E'LAI?‘(ZHm—HO)Ql2
Hm Ho
+ Ho » LAl|— - — 1 62
2 3
Hm H
T A
3 4
B+ aA Ho
K22(341) = ———— < LAl *Ho* [Hn - —| = 51.69
Hm 2
B - A ) Ho
K24(3A1) = ——— < LAl*+*Ho* |[Hn - —| = 186. 70
2Hm 2
B+ aA ) 2
K25(341) = ——— < LAl * Ho*(Hm — — « Hoj = 130. 54
2Hm 3
« oA LAI’-H
K44 (3A1) = b a . °. (2Hm — Ho) = 899. 21
Hm
+ A Hm H
kas@al) = 2R eI o) g 5
2Hm 2 3
B+ aA ,( Hm Ho
K55(3A1) = ——— « LAl * Ho*|— - —) = 481. 59
Hm 3 4

FORUMS8
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@

X
hi =Hm - — - z
N

dv = v + 8, (TAL +x) + 8,2
B+ oA 1wk X
UBAZ = ——— I, (Hm— i Z)(v + 0, (LAL + ) + 0,-72) -dz-dx
B+ aA Ho LA2 ,
= ———— «JA2+Ho {|[Hm - — - —|»
2Hm 2 2N
+ (2Hm + LAl — Ho « LAl + Hm * LA2
Ho » LA2 LAl - LA2 2LA2Y
- - S e,
2 N 3N
2Ho? Ho » LA2
+ [Hmn«Ho - - v * 0,
3 2N
. Ho - 1AL
+(Hm'LA1—T+Hm'LA1'LA2
Ho « LA1 « LA2 Hm « LA2? Ho « LA2?
2 3 6
B LA1% « LA2 B 2LAL « LA2? B LA23> g2
oN 3N AN :
2Ho® » LAL Hm + Ho < LA2
+ (Hm * Ho + LAl - + 5
Ho® « LA2 Ho « LA1 « LA2 Ho « LA2?
- - - ) .+ 0,
3 2N 3N
Hm + Ho* Ho? Ho* + LA2 )
3 4 6N ‘
B+ aA Ho LA2
K22 (3A2) = +lA2+*Ho |Hh - — - —| = 22.11
Hm 2 2N
B+ aA
K24 (3A2) = T +LA2 *Ho+ (2Hm -+ LAl — Ho * LAl + Hm * LA2
m
Ho » LA2 LAl - LA2 2LA2Y
- - - ) = 198. 72
2 N 3N
B+ aA 2Ho? Ho » LA2
K25(342) = ——— < LA2+Ho* [Hm+Ho - - = 52.41
2Hm 3 2N
B+ aA ) Ho » LA1®
K44 (342) = —— «1LA2 *Ho+ (Hm~+LAl> — ——— + Hm -+ LAl + LA2
Hm 2
Ho « LA1 « LA2 Hm « LA2? Ho « LA2?
2 3 6
LA1% « LA2 2LAL « LA2? LA2?
- - - ) = 1812. 45
2N 3N AN
B+ aA 2Ho® » LAL Hm + Ho < LA2
K45(342) = ——— «LA2 *Ho+ (Hm -+ Ho * LAl - +
2Hm 3 2
Ho® « LA2 Ho « LA1 « LA2 Ho « LA2?
- - - ) = 468. 28
3 2N 3N
B+ aA Hm + Ho? Ho? Ho® « LA2
K55(342) = ——— + A2 Hoe |—M8M - — - ——| = 184. 20
Hm 3 4 6N
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(b)B
LBl
.
A
Bo
Hm
Ha @
> X
. B
v = BB s v dr e dx
2Hm
B = kh/ks = 2.000
(€H)
hi = Hm - 2z
Ov =v + O,x+ 0,2
B+ aB m ,
U3Bl = —— § F  Hm - 2)(v + B, x+ 0,°2) +dz-dx
oHm 0 o
B+ aB Ho ) Ho
= 2 * JIBl-Ho {[Hm = — | v* + LBL{Hn - — ] v + 0,
2Hm 2 2
2
+HO(HHI—§'HO)V'92
1
# LB 2lin — Ho) 0/
Hm Ho
+ Ho* LBl|— - — 61 62
2 3
Hm Ho
ropor 2L 2 2
0(3 4) )
B+ aB Ho
K22 (3B1) = 1Bl + Ho » [Hn — —| = 10, 67
Hm 2
. aB
k24381 = 2B ipr oo fm - 20} 2 10399
2Hm
B+ aB ) 2
K25(3B1) = =22 V1Bl «Ho'[Hm = — +Ho| = 10272
2Hm 3
- aB  LBI*-H
kaa(apl) = 2B . . (%Hm - Ho) =  354.48
Hm 6
. aB Hn H
ki5(3B1) = 2B g eI o) e 6
2Hm 2 3
B+ aB ,( Hm Ho
K55 (3B1) = V1Bl + Ho'[— - —| =  378.96
Hm 3 1

FORUMS8
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@

X
hi =Hmn - — - 2z
N
v = v + 8,(IBl +x) + 8,2z
. B o X
U3B2 = BZTHT‘IEBZ f (Hm— - Z)(v # 6,(BL+x) + 0,-2) -dz- dx
B+ aB Ho LB2 ,
-~ L IB2-Ho- {[Hm- — - —|
2Hm 2 2N
+ (2Hm + LBl — Ho « LBl + Hm * LB2
Ho + LB2 LB1 - LB2 21LB2?
- - S AR, L,
2 N 3N
2Ho? Ho + LB2
+ |[Hm * Ho - - v e 0,
3 2N
. Ho-LBI®
+ (Hm » LB1> = ———— + Hm -+ LBl + LB2
Ho « LB1 « LB2 Hm « LB2? Ho « LB2?
2 3 6
B LB1% - LB2 B 2LB1 - 1LB2? B LBZS> g2
oN 3N AN :
2Ho® » LB1 Hm + Ho < LB2
+ (Hm * Ho + LB1 - + 5
Ho® « LB2 Ho « LB1 « LB2 Ho « LB2?
- - - ) .+ 0,
3 2N 3N
Hm + Ho* Ho? Ho* + LB2 )
3 4 6N ‘
B+ aB Ho LB2
K22 (3B2) = + LB2 « Ho Hpn - — - —| = 10. 96
Hm 2 2N
B+ aB
K24 (3B2) = T «1B2+Ho+ (2Hm-+1Bl - Ho * LBl + Hm * LB2
m
Ho + LB2 LB1 - LB2 21LB2?
- - - ) = 63. 99
2 N 3N
B+ aB 2Ho? Ho + LB2
K25(3B2) = —— «1B2+Ho* [Hm+Ho - - = 27.11
2Hm 3 2N
B+ aB ) Ho + LB1®
K44 (3B2) = ” «+1B2+Ho+ (Hm-+IB1? = ———— + Hm - LBl + LB2
m
Ho « LB1 « LB2 Hm « LB2? Ho « LB2?
2 3 6
LB1% - LB2 2LB1 - 1LB2? LB2?
- - - ) = 375.63
2N 3N AN
B+ aB 2Ho® » LB1 Hm + Ho < LB2
K45(3B2) = ——— «1B2+Ho+ (Hm - Ho + LBl - +
2Hm 2
Ho® « LB2 Ho « LB1 « LB2 Ho « LB2?
- - - ) = 158. 09
3 2N 3N
B+ aB Hm + Ho? Ho? Ho® « LB2
K55(3B2) = ———— + B2+ Ho e |[— - — - = 98. 46
Hm 3 4 6N
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®
X
hi =HB - — - 2
NB
1B2 = LBl + LB2

dv = v + 8,(IB2 +x) + B,+2z
B B+ aB m m X B
USBS_WXU J"O (HB—E—Z)(V+91(1BZ+X)+92-Z) e dz » dx
B+ aB Ho LB3 ,
-~ . IB3-Ho- {[HB- — - =—|»
2Hm 2 2NB
+ (2HB + 1B2 — Ho « 1B2 + HB - LB3
Ho + LB3 1B2 « LB3 21.B3?
- - N LB
2 NB 3NB
2Ho? Ho + LB3
+ [HB+Ho - - v * 0,
3 2NB
. Ho - 1B
+ (HB » 1B2> — ————— + HB - 1B2 + LB3
B Ho - 1B2 - LB3 . HB - 1.B3? B Ho - 1LB3?
2 3 6
B 1B2? - 1.B3 B 21B2 - 1.B3? B LBSS> g2
ONB 3NB ANB
2Ho® + 1B2 HB + Ho < LB3
+ (HB « Ho + 1B2 - + 5
Ho® « LB3 Ho - 1B2 - LB3 Ho « LB3?
- - - ) .+ 0,
3 2NB 3NB
HB - Ho’ B H_o3 B Ho® « LB3 6.}
3 4 6NB ‘
B+ aB Ho LB3
K22(3B3) = ———— +IB3+Ho+ [HB - — - —| = 2.20
Hm 2 2NB
B+ aB
K24 (3B3) = T «1B3+Ho+ (2HB-1B2 - Ho * 1B2 + HB + LB3
m
Ho + LB3 1B2 « LB3 21.B3?
- - - ) = 14. 91
2 NB 3NB
B+ aB 2Ho? Ho + LB3
K25(3B3) = ——— «1B3+Ho+ [HB+Ho - - = 5. 03
2Hm 3 2NB
+aB Ho + 1B2?
K44 (3B3) = BH—Oé +1B3+Ho+ (HB- 1B2® - Jot b + HB - 1B2 - LB3
m
B Ho - 1B2 - LB3 N HB - LB3? B Ho « LB3?
2 3 6
1B2? - 1.B3 21B2 - 1.B3? LB3?
- - - ) = 101. 16
2NB 3NB 4ANB
B+ aB 2Ho® + 1B2 HB + Ho < LB3
K45(3B3) = ——— «1B3 +*Ho+ (HB-+Ho - 1B2 - +
2Hm 2
Ho® « LB3 Ho - 1B2 - LB3 Ho « LB3?
- - - ) = 34. 09
3 2NB 3NB
B+ aB HB - Ho’ Ho? Ho® « LB3
K55(3B3) = ———— +IB3*Ho e |[—— - — - = 17. 16
Hm 4 6NB

FORUMS8
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©)

X

hi =Ho - — -z
NB

1B3 = LB1 + LB2 + LB3

0 v v + 8,(0B3 +x) + 8,2z
B (HO—

LB4*

s aB
i)
2Hm

X

NB

U3B4 I?—

0

Ho®

B+ aB

NB

X 2

—Z)(v + 6,(1B3 + x) + Qz'z) +dz * dx

Ho - LB4

-LB4{( +

2Hm 2

+ (Ho* - 1B3 +

LB4?

6NB

-

Ho’ + LB4
+

2NB

1B3 - LB4?
3NB?
2Ho + 1.B4

Ho + 1B3 « LB4 )

+ -
ANB?
Ho®

+

LB4?

'61

- v
NB

Ho « LB4*
+

3NB
Ho’ + LB4

|

3

12NB?

'92

%

3NB? 2NB

Ho’ « 1LB4"

2

1B3* » 1.B4
+

Ho + 1B3*
+

Ho® + 1B3 « LB4 .
2
1B3 - LB4?
+

6
LB4*

6NB?
Ho + 1B3

ANB? LONB?

P+ LB4 2Ho + 1B3 + LB4’ Ho « LB4?

) 0/

2NB

Ho® + 1B3

INB -
1B3 + LB4?

4ANB

3
LB4*

Ho® + LB4
+
6
Ho « 1B3 - LB4

12NB?
Ho « LB4?

+
15NB?
Ho® + 1B3 « LB4

3NB? ANB?

Ho’ « 1LB4"

)

2NB
LB4*

Ho!

+

61' 62

3NB
Ho « LB4?

12

+
60NB*
Ho’ « 1LB4"

12NB?
Ho® + LB4

6NB?

+ aB Ho?

- LB4

LB4*

Q 2
b ) 0.}

Ho - LB4

.19

K22 (3B4)

Hm 2

B
2Hm

- aB

K24 (3B4) «LB4+ (Ho* - 1B3

LB4?

6NB?

Ho + 1B3

2NB

1B3 - LB4?
3NB?

Ho’ + LB4
2
- LB4

+

+ -
4NB”

B+ aB Ho?

LB4?

2Ho - LB42)
3NB

Ho - LB4

NB
Ho? - 1LB4

+ LB4 -

K25 (3B4)

3

2Hm

- aB
£ B4

+
12NB?
Ho® - 1B3?

+

3NB?
Ho® + 1B3 - LB4

2NB
Ho’ « 1LB4"
+

K44 (3B4)

( 2
1B3* » 1.B4

8
Hm

2 6

1B3 - LB4? LB4*

6NB?

Ho « 1B3" « LB4

ANB? LONB?

2Ho + 1B3 - LB4? Ho « LB4?

) 178. 75

2NB

3NB 4ANB

FORUMS8
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K45(3B4) =

Ho « 1B3 - LB4

Ho® + 1B3 « LB4

K55(3B4) =

FORUMS8
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3.4 Y
Bo ®
v
¥ B L AB
1 [P Pviy 1
Ud = —[— + — 2] — 16 v’edy-dx
2Hm \ c | AC
€H)
o0v = v + 8,°x
1 Pv Pvi\ 1 18 .mo )
U4l = —|— + — + 0, «dv - d
2Hm(y VC)AC Jo Jg (v v 8w - dy e dx
1 (Pv Pviy 1 LB?
= —|— + _'LB'BOV2+LB'V'Q1+_'Q1Z
2Hm \ v ye | AC 3
1 [Pv Pvi\ 1
K22(41) = —|— + — +1B+Bo = 20. 69
Hm | v yec | AC
1 {Pv Pvi\ 1 )
K24(41) = —|— + — +1B* - Bo = 92. 5b
2Hm \ v ye | AC
1 ({Pv Pviy 1 LB® « Bo
K44(41) = —|— + — = 551. 87
Hm | v yec | AC 3
@
v = v + 6, (1B +x
1 (P Pvi) 1 of1- 2
V42 = — [ ¢ 22 g XB(le) (1’ + 6, (LB + X))2 +dy - dx
2Hm |\ v ye/AC 0 0
1 (Pv Pviy 1 1 ) LAB + 3LB
= —— + — «LAB+Bo (= v+ —————+ 3 + 0,
2Hm \ v vel AC 2 3
LAB® + 4LAB + LB + 6LB’
+ < 6.5
12
1 Pv Pviy 1
K22(42) = —(— + — +«LAB - Bo = 2. 44
2Hm \ v yec | AC
1 /Pv Pvi\ 1
K24 (42) = —— — + LAB + Bo + (LAB + 3LB) = 23.56
6Hm \ v yec | AC
1 Pv Pvi\ 1
K44(42) = — + — < LAB +Bo - (LAB* + 4LAB « LB + 6LBY) =
12Hm \ v yec | AC

227.93

FORUMS8
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3.5

Ub = g

LB

Zo_ﬁ 0 w?e+dy -+ dx

B o = kv/ks = 4.000

€))

5a)=a)+93'x+ Qz'y

U5l =

K33(51)

K35(51)

K36 (51)

K55 (51)

K56 (51)

K66 (51)

Bo
2

Bo
2

LLAB

. 62.

LB?
0+ —5_ <64

I;B fio (0 + Gsex+ B,09)" +dy-dx
«IB*Bo (w?+Bo* w0, +1IB*w-=* 6,
Bo? ) Bo * LB
+ — 0+
Bo-1B+Bo=  207.51
BZO-LB-BOZ= 601. 79
Bo
S LB-Bo-lB= 92801
BSO-LB “Bo' = 2326.90
BO g .Bo'= 269133
1
BSO-LBS-Bo= 5533. 92

FORUMS8
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@
0w =w + 05+ AB+x) + 0,y
Bo 1w Bm(BmL) 2
Us2 = — =, [0 (s 6, B0+ 6.y) -dy - dx
0
Bo 1 ) Bo LAB
= *LAB*Bo (—+ '+ — w03+ |[— + 1B} 0
2 2 3 3
Bo* , LAB LB
+ -6, + Bo + — -0, 0
2 12 3
LAB* LAB-LB LB’ ,
+ + + — | ¢ 0,
12 3 2
Bo
K33(52) = 5 «LAB * Bo = 24. 49
Bo )
K35(52) = . - LAB + Bo? = 47, 34
Bo LAB
K36 (52) = ) - LAB + Bo * T+LB = 236.26
Bo .
K55 (52) = 3 - LAB - Bo® = 137. 30
Bo ,. [LAB LB
K56(52) = «IAB Bo* |— + —| = 448. 45
2 12 3
LAB> LAB-1B LB’
K66 (52) = Bo~-LAB -Bo- T - + —| = 2285.57

FORUMS8
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3.6
K11
K12
K13
K14
K15
K16
K22
K23
K24
K25
K26
K33
K34
K35
K36
K44
K45
K46
K55
K56
K66

K21
K31
K41
K51
K61

K32
K42
K52
K62

K43
K53
K63

K54
K64

K65

88.
.00
.00
-239.
.00
.44
153.
.00
708.
322.
.00
.00
.00

649.
1164.
5706.
.03

161

232

1432

-405.
.44
3139.
8406.

3637

55

55

96

29
88

13
31
39

79

78
11

FORUMS8
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4
\I Q> u (XD
02 (MX)
81 (Mz)
v(Y)
63 (My)
w
D)
ROl AT
JRS R BE A
[ 2 / -
181 BE B
' iy AT
Y
4.1
A
D
v
=
Ho
Bo
Bo D
PX12K0°ny fo D -2z) +dz-+dy
1
ZE'KO'V'DZ'BOZ 110. 20 (kN)
MYL =Ko+ y . § (D—2) - (Ho+2)+dz+dy
,[D Ho
=Koy +Bo-D| -+ )= 7732 (kN. m)
Mz1=—Ko-ijO jz D - 2) ye-dz-dy

1
— +Ko «D? - Bo’ =
1 Y

-319. 58 (kN. m)

FORUMS8
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4.2
(A
LAl A2
1,-]\7
Hm
@® @
Hag
| Y4
LA
NN = 1/N = 0.522
@ 1
LAL Ho
PY2A1 = Ko » v fo fo (Hm — z) + dz » dx
Ho
=Ko+ y +LAL - Ho(Hm - 7) = 2255.35 (kN)
LAL Ho
MX2A1 = Ko » v fo fo (Hn — z) * 7z +dz » dx
, [ Hm Ho
=Ko+ vy LAl - Ho ?—? = 5696.30 (kN.m)
LAL Ho
MZ2A1 = Ko+ v fo fo (Hn — z) * x + dz * dx
1 ) Ho
= E.KO. v + LAL® * Ho(Hm - ? = 8146.86 (kN.m)
@ 2
LA2 Ho
PY2A2 = Ko » v fo fo (Hn — NN+ x — z) »dz * dx
1
= E-Ko- y +LA2 «+ Ho(2Hm — Ho — LA2 + NN) = 964.87 (kN)
LA2 Ho
MX2A2 = Ko » v fo fo (Hn — NN+x — 7z) »z+dz * dx
(1 1
=Ko+ vy +LA2 - Ho E(SHm - 2Ho) - Z +LA2 + NN} = 2286.90 (kN.m)
LA2 Ho
MZ2A2 = Ko » v fo fo (Hn — NN+x — z) » x +dz * dx
1
= E +Ko+ v +LA2" + Ho(6Hm — 3Ho — 4LA2 + NN) = 1700.67 (kN.m)
(©))
pHI : = 5.00 (kN/m?)
PYL = pHlI Ho LA = 351.01 (kN)
MXL = PYL Ho/2 = 1114.46 (kN.m)
MZL = PYL LA/2 = 1940.31 (kN.m)

FORUMS8
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“4)
PY2A = PY2A1 + PY2A2 + PYL = 3571.24 (kN)
MX2A = MX2A1 + MX2A2 + MXL =  9097.67 (kN.m)
MZ2A = MZ2A1 + PY2A2 LAl + MZ2A2 + MZL = 18758.55 (kN.m)
(b)B
LB1 LB2 1B3  LB4
1:
\]X
\{-\
Hm ¢
ZA o ® ® Hq
@
LB

NN = 1/N, NNB = 1/NB
@ 1
LBl Ho
PY2B1 = Ko * v fo fo (Hm — z) + dz » dx

Ho
=Ko+ y +1BI - Ho(Hm - 7) = 1596.33 (kN)

1Bl

MX2BL = Ko« v J. jz" (Hn - 7) » 7 - dz - dx

Hm H
=Ko~ vy -LBI-HoZ(? - ?O) = 4031.81 (kN.m)

1Bl

MZ2BL = Ko+ v f. jz" (Hn - 7) - x - dz - dx

H
= —-+Ko+y *LBI": Ho(Hm - ?O) = 4081.36 (kN.m)

2
@ 2
LB2 Ho
PY2B2 = Ko - yfo fo (Hn — NN+ x — z) »dz * dx
1
= E-Ko- y +LB2 «Ho(2Hm — Ho — LB2 + NN) = 430.21 (kN)
LB2 Ho
MX2B2 = Ko yfo fo (Hn — NN+x — 7z) »z+dz * dx
(1 1
=Ko+ vy +LB2+Ho E(SHm - 2Ho) - Z +1LB2 + NN} = 1063.87 (kN.m)
LB2 Ho
MZ2B2 = Ko yfo fo (Hn — NN+x — z) » x +dz * dx
1
= E *Ko+ v +LB2"+ Ho(6Hm — 3Ho — 4LB2 + NN) = 311.83 (kN.m)

FORUMS8
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(©) 3
PY2B3 = Ko + v ﬁ% j? (Hn — NN - 1B2 — NNB + x — 2) - dz - dx
= — <Ko+ y +1B3-Ho(2Hm — Ho — 2LB2 - NN — LB3 - NNB) =  86.29 (kN)

LB3

MX2B3 = Ko » v fo fzo (Hn — NN -1B2 — NNB - x — z) +z - dz - dx
= — Ko+ y +LB3-Ho’(12Hm — 8Ho — 12LB2 « NN — 6LB3 + NNB) = 197.39 (kN. m)

LB3

Ho
MZZBSZKO-VXO fo (Hn — NN+LB2 -~ NNB+x — z) *x+dz * dx

= Kooy 1.B3" « Ho (6Hm — 3Ho — 6LB2 - NN — 4LB3 - NNB) = 15. 42 (kN. m)
@ 4
LB4 HO-NNB - x
PYZB4=K0'3/§O fo (Ho — NNB +x — z) *dz * dx
1
= Ko<y - LBA(lo’ - 3o - LB4 - NNB + LBA" - NNB) = 12534 (kN)
MX2B4 = Ko + v ﬁ“ XTWKX(Ho-—NNB'x-z)'z'dz-dx
1 s
= “Ko+ v {Ho' = (Ho — LB4+NNB)‘} =  198.97 (kN.
s Ko+ v o' = (o ) (. m)
LB4 HO-NNB - x
MZZB4=K0°ny fD (Ho = NNB+x — z) *x+dz *dx
1
= Kooy LB4* (6Ho® — 8Ho - LB4 - NNB + 3LB4 + NNB?)
= 61.51 (kN. m)
®)
PY2B = -(PY2B1 + PY2B2 + PY2B3 + PY2B4) = -2238.16 (kN)
MX2B = -(MX2B1 + MX2B2 + MX2B3 + MX2B4) = -5492.05 (kN.m)
MZ2B = -(MZ2B1 + MZ2B2 + PY2B2 1B2 + MZ2B3 + PY2B3 B3 + MZ2B4 + PY2B4 1B4)

= -8114.82 (kN.m)
IB2 = LB1, B3 = LB1 + LB2, B4 = LB1 + LB2 + LB3

FORUMS8
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4.3
] [ L X
)
Bo ®
A
LB1 LA2
\j
y
€y
Bo LAl - LB1
P7Z31 = o« + v *DJ (LAl - ——— < y| + dy
0 Bo
LAl + LB1
= « y-D'BOf = 1436.59 (kN)
Bo LAl - LBI1
MX31 = o = vy 'Dfo LAl - ——————+y| ry+dy
o
a vy D )
= p + Bo*(LAL + 2LB1) = 3928.50 (kN.m)
B 1 LAl — LB1 :
MY31 =« « vy +Df —[LAl - ——— «vy| «dy
o2 0
a vy *D
= . - Bo(LA1” + LAl - LBl + LB1%) = 4474.37 (kN.m)
@
LA2
P732 = « * vy -Bofo (D - NN-x) «dx
1
:E'OL"V'BO'LAZ'D: 446. 07 (kN)
LA2 Bo
MX32 = o = vy -Bofo (D—NN-X)-?'dX
1 2
=Z'o¢-y'Bo-LA2'D= 1293. 61 (kN. m)
12 Bo LAl - LB1
MY32 = « - yfo fo D-NN+x)[x+ LAl — —— +y| +dy * dx
o
1
= E «a vy *Bo-+LA2 -+ D(3LA1 + 3LBl + 2LA2) = 3321.46 (kN.m)
D = NN LA2

FORUMS8
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®

PZ3
MX3
MY3

PZ31 + PZ32
MX31 + MX32
MY31 + MY32

1882.66 (kN)
5222.11 (kN.m)
7795.82 (KN.m)

FORUMS8
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4.4

6350

11056
10000
(el
O Ll _,
a0
Lo
70. 00007
8944 /// 2111
400 5000 400
=) <
h
230
[
S
Lo
Lo
200
[
SVL@ =
Lo
5800

FORUMS8
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v(m®) X(m) Y(m)

1 5.800 8.944 0.400 = 20.751 4.472 2.900
2| (1/2) 2.111 5.800 0.400 = 2.449 9.648 1.933
1 5.800 8.944 0.450 = 23.345 4.472 2.900
2| (1/2) 2.111 5.800 0.450 = 2.755 9.648 1.933
1 0.400 10.910 5.500 = 24.002 5.455 0.200
2| (1/2) 0.146 0.400 5.500 = 0.160 10.958 0.133
1 0.400 8.944 5.500 = 19.678 4.472 5.600
2| (1/2) 0.146 0.400 5.500 = 0.160 8.993 5.533
1| (1/2) 0.200 0.200 10.837 = 0.217 5.419 0.467
2| (1/3) 0.200 0.200 0.073 = 0.001 10.864 0.450
3| (1/2) 0.200 0.200 9.090 = 0.182 4.545 5.333
4| (1/6) 0.200 0.200 0.073 = 0.000 9.108 5.300
1| (/2) 0.200 0.200 10.837 = 0.217 5.419 0.467
2| (1/3) 0.200 0.200 0.073 = 0.001 10.864 0.450
3| (1/2) 0.200 0.200 9.090 = 0.182 4.545 5.333
4| (1/6) 0.200 0.200 0.073 = 0.000 9.108 5.300

PZ4 = ¥ (Vi) y c = 2305.45 (kN)

MY4 = X (Vi xi) yc = 11602.60 (kN.m)

MX4 = 2 (Vi yi) yc= 6271.79 (kN.m)

FORUMS8
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4.5

€))

@

®

SDA =
MDA =

SLA =
MLA =

417.29 (kN)
848.31 (KN.m)

10.37 (kN)
20.49 (kN.m)

SWA = SDA + SLA =  427.66 (kN)
MWA = MDA + MLA =  868.80 (KN.m)
O W =70.0000 ( )

PX5A = SWA sinB W
PYSA = SWA cosB W

SDB =
MDB =

401.87 (kN)
146.27 (kN)

417.29 (kN)
848.31 (KN.m)

SWB = SDB = 417.29 (kN)

MWB = MDB =  848.31 (kN.m)

K =sinB W - cosB W= 0.59767 :

PX5B = SWB sin@ W K = 234.36 (kN)

PYS5B = SWB cos@ W K

PX5

PX5A + PX5B

85.30 (kN)

636.23 (kN)

PY5 = PY5A + PY5B =  231.57 (kN)

MZ5 = MWA - MWB K + PY5A LA + PYSB LB - PX5B Bo =
MX5 = PY5 Ho/2 = 735.23 (kN.m)
MY5 = PX5 Ho/2 = 2020.04 (kN.m)

1382.54 (KN.m)

FORUMS8
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4.6

PX
PY
PZ
M1
M2
M3

PX1 + PX5
PY1 + PY2A + PY2B + PY5
PZ3 + PZ4

MZ
MX
MY

MZ1 + MZ2 + MZ5
MX2 + MX3 + MX4 + MX5
MY1 + MY3 + MY4 + MY5

746.43 (kN)
1564.64 (kN)
4188.11 (kN)

11706.68 (kN.m)
15834.76 (kN.m)
22191.69 (KN.m)

FORUMS8
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5.2

[ 6x | [ K11 K12 K13 K14 K15 K16 |-1 [ PX |
0y 1 K21 K22 K23 K24 K25 K26 PY
0z | = — K31 K32 K33 K34 K35 K36 PZ
6, Ks K41 K42 K43 K44 K45 K46 M1
0 K51 K52 Kb3 Kb4 KbH Kb6 M2

| 65 | | K61 K62 K63 K64 K65 K66 | | M3 |
0 x = 1.84742 (m)
0y = -0.85210 (m)
0z = 1.59899 (m)

0. = 0.36548 (rad)
6 ,= 0.08917 (rad)
0 ;= -0.00862 (rad)
N [0
[ |
| |
N [
(1-1)
@
pv=a D vy
pv : (kN/m?)
D :
y = 19.00 (kN/m*)
a

D D
a =1.0 + 0. 207(—) - 0. 0143(—)
B B

o]

2

o]

Bo : = 5.800 (m)

(11-11)

FORUMS8
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1)1-1

D = 2.000 (m), a = 1.070

pv =
2)11-11

o
1

pv

o
1

pv

@

pli = Ko

40.648 (KN/m?)

2.000 (m), a = 1.070
40.648 (kN/m?*)
= 1.706 (m)

1.222 (m), a = 1.043
24.218 (kN/m?)

hi vy

pli : i

Ko : = 0.500
hi : i

hi

p2i = 0i+—<Ks+* B * A

Hm

hi

p2i = i+ —+Ks+ f +» aB

pHI =

pHi

pHi =

Hm
p2i : i
O i
0i=0y+60,
X : X (m
yi i
oy : Y
0. : z
0., : X
Hm :
aA : JAC/AA = 0.909
aB : JAC/AB = 1.011

(KN/m?)

(KN/m2)
Y (m

X+0, yi

(m)
= -0.8521 (m)
= 0.3655 (rad)
= 0.0892 (rad)

(m

AC : = 58.000 (n?)

AA :
AB :
Ks :
B : kh/ks

2.000

5.000 (kN/m?)

pli - p2i + pHI

pli + p2i

70.203 (m?)
56.797 (M%)

10.0 (KN/m?)

FORUMS8
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11-1
X = 0.000 (m)
y h pl p2 pH
m m (kN/n) (KN/m?) (kN/m?)
1 6.350 2.000 19.000 -1.245 25.245
2 5.556 2.794 26.541 -2.169 33.710
3 4.762 3.587 34.081 -3.339 42.420
4 3.969 4.381 41.622 -4.752 51.374
5 3.175 5.175 49.162 -6.411 60.573
6 2.381 5.969 56.703 -8.314 70.017
7 1.587 6.762 64.244 -10.461 79.705
8 0.794 7.556 71.784 -12.853 89.638
9 0.000 8.350 79.325 -15.490 99.815
y h pl p2 pH
m m (KN/nt) (KN/m?) (KN/m?)
1 6.350 2.000 19.000 -1.384 17.616
2 5.556 2.79%4 26.541 -2.412 24.129
3 4.762 3.587 34.081 -3.712 30.370
4 3.969 4.381 41.622 -5.283 36.338
5 3.175 5.175 49.162 -7.127 42.035
6 2.381 5.969 56.703 -9.243 47.460
7 1.587 6.762 64.244 -11.630 52.613
8 0.794 7.556 71.784 -14.290 57.495
9 0.000 8.350 79.325 -17.221 62.104
2)11-11
X = 6.604 (m)
y h pl p2 pH
m m (kN/m?) (kN/m?) (kN/m?)
1 6.350 2.000 19.000 9.264 14.736
2 5.556 2.794 26.541 12.510 19.031
3 4.762 3.587 34.081 15.511 23.570
4 3.969 4.381 41.622 18.268 28.354
5 3.175 5.175 49.162 20.780 33.382
6 2.381 5.969 56.703 23.048 38.655
7 1.587 6.762 64.244 25.071 44.173
8 0.794 7.556 71.784 26.850 49.935
9 0.000 8.350 79.325 28.383 55.942
y h pl p2 pH
m m (kN/m?) (KN/m?) (kN/m?)
1 6.350 1.222 11.610 6.940 18.550
2 5.556 2.016 19.151 11.066 30.217
3 4.762 2.810 26.691 14.893 41.584
4 3.969 3.603 34.232 18.420 52.652
5 3.175 4.397 41.773 21.647 63.419
6 2.381 5.191 49.313 24.574 73.887
7 1.587 5.985 56.854 27.201 84.055
8 0.794 6.778 64.394 29.528 93.923
9 0.000 7.572 71.935 31.555 103.491
®
q=0®z+6; X+0, Y) Ks Bo
q: (kN/m?)
X : X (m)
Y : Y (m)
dz: Z = 1.5990 (m)

FORUMS8
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0, : X
0 3 - Y
Ks : =

1)1-1
X = 0.000 (m)
Y = 0.000 (m)
q= 63.960 (KN/m?)
Y = 5.800 (m)
q= 84.646 (KN/m?)
2)11-11
X = 6.604 (m)
Y = 0.000 (m)
= 61.683 (KN/m)
Y = 5.800 (m)
q= 82.370 (kKN/m)
)
1-1

10.0 (kN/m®)
B o : kv/ks = 4.000

0.0892 (rad)
-0.0086 (rad)

FORUMS8




- 43 -

5.3

11-11

SH = M/h
M

MX2A =
MX2B
PY5A
PY5B
dy
8, =
0, =
Ks
K52
K54
K55’
Ho

h = Ho

SH = M/h =

PA yA - PB yB
MX2A + MX2B + (PY5A + PY5B) (Ho/2) - (0y K52 + 81 K54 + 8 2 K55 ) Ks
812.22 (kN.m)

9097.67 (kN.m)
-5492.05 (kN.m)
146.27 (kN)

85.30 (kN)
-0.85210 (m)
0.36548 (rad)
0.08917 (rad)

10.0 (kN/m®)
322.88
1432.03
K55(3A) + K55(3B) =
6.350 (m) (

T1 = 0.400 (m)
- T1/2 = 6.150 (m)

132.068 (kN)

T

665.79 +
)

(m

507.46 =

1173.25

FORUMS8
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FORUMS8
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6.2

12 3 45

6 9

7 10

8 11

123 14 136
No X(m) Y(m) No X(m) Y(m)
1 0.000 5.925 9 5.400 5.725
2 0.200 5.925 10 5.400 2.962
3 2.700 5.925 11 5.400 0.325
4 5.200 5.925 12 0.000 0.000
5 5.400 5.925 13 0.087 0.000
6 0.000 5.725 14 2.700 0.000

0.000 2.962 15 5.313 0.000

8 0.000 0.325 16 5.400 0.000

FORUMS8
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6.3

D) 1:1-1, 11-11
Im
=1.0 x
= 1.0 x /12
No
A(m*) 1(m%) A(M®) 1(m%)
1 1 2
2 2 3 0.4000 0.0053 0.4000 0.0053
3 3 4 0.4000 0.0053 0.4000 0.0053
4 4 5
1 6
6 6 7 0.4000 0.0053 0.4000 0.0053
7 7 8 0.4000 0.0053 0.4000 0.0053
8 8 12
9 5 9
10 9 10 0.4000 0.0053 0.4000 0.0053
11 10 11 0.4000 0.0053 0.4000 0.0053
12 11 16
13 12 13
14 13 14 0.4500 0.0076 0.4500 0.0076
15 14 15 0.4500 0.0076 0.4500 0.0076
16 15 16
@) 2 :
LA" = LA - (LA - LB)/2 = 10.000 (m)
LB= 8.944 (m)
A =LA x
I = LA x /12
A=LB x
Il = LB x /12
A= (1/2) x (LA + LB) x
I = (1/24) x (LA” + LB) x
No
A(m*) 1(m%) A(M) 1(m)
1 1 2
2 2 3 4.0000 0.0533 3.7889 0.0505
3 3 4 3.7889 0.0505 3.5778 0.0477
4 4 5
5 1 6

FORUMS8
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v A(MY) 1(n%) A(T) 1(n)
6| 6| 7 4.0000 0.0533 4.0000 0.0533
70 7] 8 4.0000 0.0533 4.0000 0.0533
8| 8 | 12
9| 5] 9

10| 9 | 10 3.5778 0.0477 3.5778 0.0477

11 | 10 | 11 3.5778 0.0477 3.5778 0.0477

12 | 11 | 16

13 | 12 | 13

14 | 13 | 14 4.5000 0.0759 4.2625 0.0719

15 | 14 | 15 4.2625 0.0719 4.0250 0.0679

16 | 15 | 16

FORUMS8
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6.4

€))

@

11-1

1:

1-1, 11-11

12

16

2)11-11

12

16

16

FORUMS8



FFFFFF
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€))

1)1-1

1

©1-1, 11-11

/—129. 44

Exv90.86

;7—96.61

101, 11

~167. 99—

~133. 27

—128. 53

FORUMS8
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2)11-11

/—72. 90

—\-128. 14

—80. 46%-

-83. 3\/

7125, 47

#3142, 90

-93. 94\

/~1 16. 53 —177. 24/

—202. 71

o~
o~
%
=
~73. 928
106, 37}—41 ™~ fed
= ‘\\\\\\\\\\E
foe) :
N S
- ©
| S
=

FORUMS8
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@

~/-170. 89

177. 04

78 691"

89 "8LIT

6 281 89769

64. 43

64. 43

178. 99

/@ﬁ .m®ﬁ| m@ .@@

GG G-

GG GL-

67. 64

67. 64

FORUMS8
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®

(1-1

D

g8 .moT/

@m.ﬁﬁﬂd\mw

N

- N

s & & &

T 2 % 2 =
/ ~ ; / i
: L0 ; : ]
, — T R 61 91877 . = £ 9F1

i
96 L1 2€ 09
] i — € L81- 18 98T [ 49T 69T~

w S o

s s = < L

faN} . ;l <+

= % o8
| ‘ﬂ w

FORUMS8
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2)

(11-11

)

<
g lﬁ\;
o = v
& . |
N ~ 5

oo 5 gt J— ~144. 57
38. 57-
{95, 62
~101. 93/ T ot
: o i
8 S &
™ ;
) ©O
- Lo
| T
e
= N
‘_: [ap]
= <
\ ﬁ
: |
-67. 168 138. 27
......... +195. 51

FORUMS8




€))

1)1-1
)

MCKN .m) NCKN) MCKN .m) NCKN) MCKN.m) NCKN)
-129.4 139.0 47.5 139.0 -90.9 139.0
-130.0 143.9 87.2 171.0 -134.1 196.8

-96.6 128.5 51.3 158.6 -101.1 181.4
-168.0 222.6 58.4 222.6 -113.6 222.6
) )
S(kN) MCKN .m) NCKN) S(kN) MCKN.m) NCKN)
133.8 -129.4 139.0 -118.4 -90.9 139.0
-133.3 -130.0 143.9 191.7 -134.1 196.8
92.7 -96.6 128.5 -128.5 -101.1 181.4
-161.6 -168.0 222.6 154.8 -113.6 222.6
2)11-11
)

MCKN .m) NCKN) MCKN .m) NCKN) MCKN.m) NCKN)
-72.9 135.7 43.5 135.7 -128.1 135.7
-80.5 118.4 39.4 145.5 -83.3 171.3

-125.5 123.6 92.6 153.7 -142.9 176.5
-93.9 234.8 56.3 234.8 -177.2 234.8
) )

S(kN) MCKN .m) NCKN) S(kN) MCKN.m) NCKN)
108.3 -72.9 135.7 -116.5 -128.1 135.7
-73.9 -80.5 118.4 106.4 -83.3 171.3
131.1 -125.5 123.6 -202.7 -142.9 176.5

-128.4 -93.9 234.8 176.6 -177.2 234.8

FORUMS8
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@

FRAME
) )
MCKN .m) NCKN) MCKN .m) NCKN)
17.9 6.4 -19.0 7.2
17.9 7.5 -18.6 7.5
-19.1 7.8 19.8 7.8
-19.3 6.8 20.5 7.6
a1 ) -1 )
MCKN .m) NCKN) MCKN .m) NCKN)
0.5 6.8 3.7 6.7
-0.8 7.5 -0.8 7.5
3.0 7.8 3.0 7.8
1.9 7.2 -1.8 7.1
) )
S(kN) MCKN.m) NCKN) S(kN) MCKN.m) NCKN)
-7.0 17.9 6.4 -7.8 -19.0 7.2
6.8 17.9 7.5 6.8 -18.6 7.5
7.2 -19.1 7.8 7.2 19.8 7.8
-7.5 -19.3 6.8 -8.4 20.5 7.6

FORUMS8




- 57 -

®

@D, @
1)1-1
) )
MCKN .m) NCKN) MCKN .m) NCKN) MCKN.m) NCKN)
-111.6 145.4 48.0 145.8 -109.8 146.2
-112.1 151.4 86.4 178.5 -152.7 204.4
-115.7 136.3 54.4 166.4 -81.3 189.2
-187.3 229.3 60.3 229.7 -93.2 230.1
) )
S(kN) MCKN .m) NCKN) S(kN) MCKN.m) NCKN)
126.9 -111.6 145.4 -126.2 -109.8 146.2
-126.5 -112.1 151.4 198.5 -152.7 204.4
99.9 -115.7 136.3 -121.3 -81.3 189.2
-169.2 -187.3 229.3 146.3 -93.2 230.1
2)11-11
) )
MCKN .m) NCKN) MCKN .m) NCKN) MCKN..m) NCKN)
-55.0 142.1 47.2 142.4 -147.1 142.9
-62.6 125.9 38.6 153.0 -101.9 178.9
-144.6 131.4 95.6 161.5 -123.1 184.3
-113.3 241.6 54.6 241.9 -156.8 242.4
) )
S(kN) MCKN .m) NCKN) S(kN) MCKN.m) NCKN)
101.4 -55.0 142.1 -124.3 -147.1 142.9
-67.2 -62.6 125.9 113.1 -101.9 178.9
138.3 -144.6 131.4 -195.5 -123.1 184.3
-135.9 -113.3 241.6 168.2 -156.8 242.4

FORUMS8
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1)1-1

M kN._m -111.6 48.0 -109.8
N kN 145.4 145.8 146.2
b cm 100.00 100.00 100.00
h cm 40.00 40.00 40.00
d cm 28.50 28.50 28.50
di cm 11.50 9.90 11.50
d2 cm 9.90 11.50 9.90
e’ 19.97 0.00 19.52

cm’ 0.00 5.02 0.00

D32 @150 D— @—— | D32 @150

cm’ D—@—| D—@—| D— @—

52.947 E— 52.947

D— @—— | D32 @150 D— 0—

o’ D—@¢—| D—@0—| D—@—
e 52.947 e

X cm 16.300 18.534 16.333
gc N/mm? 6.59 2.92 6.49
oS N/mm? 74.02 23.53 72.56
o ca N/mm* 10.00 10.00 10.00
O sa N/mm? 180.00 180.00 180.00

FORUMS8
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M kN.m -112.1 86.4 -152.7
N kN 151.4 178.5 204.4
b cm 100.00 100.00 100.00
h cm 40.00 40.00 40.00
d cm 28.80 29.15 28.80
di cm 11.20 9.60 11.20
d2 cm 10.85 10.85 10.85
cm’ 19.74 0.00 30.42
cm’ 6.30 12.49 9.70
D32 @150 D— @—— | D32 @150

cm’ D—@—| D—@—| D— @—
52.947 e 52.947
D25 @300 D25 @300 D25 @300

cm’ D—@— | D—@— | D—@—
16.890 16.890 16.890
X cm 15.986 12.297 15.971
oc N/mm? 6.20 6.67 8.45
os N/mm? 74.57 137.11 101.81
o ca N/mm? 10.00 10.00 10.00
o sa N/mm* 180.00 180.00 180.00

FORUMS8
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M kN.m -115.7 54.4 -81.3
N kN 136.3 166.4 189.2
b cm 100.00 100.00 100.00
h cm 40.00 40.00 40.00
d cm 28.80 29.15 28.80
di cm 11.20 9.60 11.20
d2 cm 10.85 10.85 10.85
cm’ 21.14 0.00 11.08
cm’ 6.74 5.61 3.54
D32 @150 D— @—— | D32 @150

cm’ D—@—| D—@—| D— @—
52.947 e 52.947
D25 @300 D25 @300 D25 @300

cm’ D—@— | D—@— | D—@—
16.890 16.890 16.890
X cm 15.784 13.751 17.180
oc N/mm? 6.39 4.12 4.56
os N/mm? 79.00 69.20 46.24
o ca N/mm? 10.00 10.00 10.00
o sa N/mm* 180.00 180.00 180.00

FORUMS8
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M kN.m -187.3 60.3 -93.2
N kN 229.3 229.7 230.1
b cm 100.00 100.00 100.00
h cm 45.00 45.00 45.00
d cm 33.50 33.50 33.50
di cm 11.50 9.90 11.50
d2 cm 9.90 11.50 9.90
cm’ 28.75 0.00 9.53

cm’ 0.00 3.08 0.00

D32 @150 D— @—— | D32 @150

cm’ D— @ D—@——| D— @——

52.947 e 52.947

D— @—— | D32 @150 D— @——

cm’ D—@—| D—@— | D—@—
e 52.947 e

X cm 18.429 23.131 20.601
oc N/mm? 8.43 2.87 4.32
os N/mm? 103.43 19.29 40.57
o ca N/mm? 10.00 10.00 10.00
o sa N/mm* 180.00 180.00 180.00

FORUMS8
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2)11-11

M kN._m -55.0 47.2 -147.1
N kN 142.1 142 .4 142.9
b cm 100.00 100.00 100.00
h cm 40.00 40.00 40.00
d cm 28.50 28.50 28.50
di cm 11.50 9.90 11.50
d2 cm 9.90 11.50 9.90
e’ 6.77 0.00 29.89

cm’ 0.00 4.96 0.00

D32 @150 D— @—— | D32 @150

cm’ D—@—| D—@—| D—@—

52.947 E— 52.947

D— @—— | D32 @150 D— 0—

cm’ D—@—| D— @ D— 0——
e 52.947 e

X cm 17.922 18.506 15.898
gc N/mm? 3.33 2.87 8.64
gs N/mm? 29.44 23.24 102.68
o ca N/mm* 10.00 10.00 10.00
O sa N/mm? 180.00 180.00 180.00

FORUMS8
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M kN.m -62.6 38.6 -101.9
N kN 125.9 153.0 178.9
b cm 100.00 100.00 100.00
h cm 40.00 40.00 40.00
d cm 28.80 29.15 28.80
di cm 11.20 9.60 11.20
d2 cm 10.85 10.85 10.85
cm’ 8.94 0.00 16.35
cm’ 2.85 2.57 5.21
D32 @150 D— @—— | D32 @150

cm’ D—@—| D—@—| D— @—
52.947 e 52.947
D25 @300 D25 @300 D25 @300

cm’ D—@— | D—@— | D—@—
16.890 16.890 16.890
X cm 16.787 15.297 16.469
oc N/mm? 3.49 2.86 5.67
os N/mm? 37.49 38.81 63.69
o ca N/mm? 10.00 10.00 10.00
o sa N/mm* 180.00 180.00 180.00

FORUMS8
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M kN.m -144.6 95.6 -123.1
N kN 131.4 161.5 184.3
b cm 100.00 100.00 100.00
h cm 40.00 40.00 40.00
d cm 28.80 29.15 28.80
di cm 11.20 9.60 11.20
d2 cm 10.85 10.85 10.85
cm’ 28.39 0.00 21.29
cm’ 9.06 15.21 6.79
D32 @150 D— @—— | D32 @150

cm’ D—@—| D—@—| D— @—
52.947 e 52.947
D25 @300 D25 @300 D25 @300

cm’ D—@— | D—@— | D—@—
16.890 16.890 16.890
X cm 15.474 11.801 16.159
oc N/mm? 7.95 7.42 6.83
os N/mm? 102.65 163.62 80.09
o ca N/mm? 10.00 10.00 10.00
o sa N/mm* 180.00 180.00 180.00

FORUMS8
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M kN.m -113.3 54.6 -156.8
N kN 241.6 241.9 242 .4
b cm 100.00 100.00 100.00
h cm 45.00 45.00 45.00
d cm 33.50 33.50 33.50
di cm 11.50 9.90 11.50
d2 cm 9.90 11.50 9.90
cm’ 13.16 0.00 22.00

cm’ 0.00 1.54 0.00

D32 @150 D— @—— | D32 @150

cm’ D—@—| D—@—| D— @—

52.947 e 52.947

D— @—— | D32 @150 D— @——

cm’ D—@—| D—@— | D—@—
e 52.947 e

X cm 19.997 24.381 18.974
oc N/mm? 5.21 2.62 7.12
os N/mm? 52.79 14.72 81.72
o ca N/mm? 10.00 10.00 10.00
o sa N/mm* 180.00 180.00 180.00

FORUMS8
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9.2

S
Tm = ——— é Ta
d
m: (N/mm?)
S )
b = 1000 (mm)
d (mm)
Ta: (N/mm?)
Ta=C Cpt CN 1 al
Ce : d
Cpt: pt
CN :
CN = 1 + (Mo/M) 2.0
Mo :
(N.mm)
Mo = (N/Ac) (lc/y)
N )
Ac (mm?)
Ic (mm*)
y (mm)
M (N.mm)
T al: = 0.250 (N/mm?)
11-1
S d m Ta
(kN) (cm) (N/mm?) N/ Ce Cpt CN case
126.9 28.50 0.445 0.571 1.400 1.500 1.087 —
-126.2 28.50 0.443 0.572 1.400 1.500 1.089 —
-126.5 28.80 0.439 0.572 1.400 1.500 1.090 —
198.5 28.80 0.689 0.572 1.400 1.500 1.089 —
99.9 28.80 0.347 0.566 1.400 1.500 1.079 —
-121.3 28.80 0.421 0.606 1.400 1.500 1.155 —
-169.2 33.50 0.505 0.565 1.380 1.500 1.092 —
146.3 33.50 0.437 0.613 1.380 1.500 1.185 —
CN
M N Ac Ic y Mo oN
(kN.m) (kN) (m) (m) (m) (kN.m)
-111.6 145.4 0.400 0.005333 0.200 9.7 1.087
-109.8 146.2 0.400 0.005333 0.200 9.7 1.089
-112.1 151.4 0.400 0.005333 0.200 10.1 1.090
-152.7 204.4 0.400 0.005333 0.200 13.6 1.089
-115.7 136.3 0.400 0.005333 0.200 9.1 1.079
-81.3 189.2 0.400 0.005333 0.200 12.6 1.155
-187.3 229.3 0.450 0.007594 0.225 17.2 1.092
-93.2 230.1 0.450 0.007594 0.225 17.3 1.185

FORUMS8
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2)11-11

(EN) (gm) Q| vy Ce Cpt CN | case
101.4 | 28.50 | 0.356 | 0.615 | 1.400 | 1.500 1.172 | —
124.3 | 28.50| 0.43 | 0.559 | 1.400 | 1.500 1.065 | —
67.2 | 28.80| 0.233 | 0.595 | 1.400 | 1.500 1.134 | —
113.1 | 28.80| 0.393 | 0.586 | 1.400 | 1.500 1.117 | —
138.3 | 28.80 | 0.480 | 0.557 | 1.400 | 1.500 1.061 | —
-195.5 | 28.80| 0.679 | 0.577 | 1.400 | 1.500 1.100 | —
135.9 | 33.50| 0.406 | 0.600 | 1.380 | 1.500 1.160 | —
168.2 | 33.50 | 0.502 | 0.578 | 1.380 | 1.500 1.116 | —
CN

M N Ac Ic y Mo o
(kN.m) (kN) (m (m (m (kN.m)

_55.0 142.1 | 0.400 | 0.005333 | 0.200 9.5 | 1.172
-147.1 142.9 | 0.400 | 0.005333 | 0.200 9.5 | 1.065
~62.6 125.9 | 0.400 | 0.005333 | 0.200 8.4 | 1.134
~101.9 178.9 | 0.400 | 0.005333 | 0.200 1.9 | 1.117
~144.6 131.4 | 0.400 | 0.005333 | 0.200 8.8 | 1.061
-123.1 184.3 | 0.400 | 0.005333 | 0.200 12.3 | 1.100
-113.3 241.6 | 0.450 | 0.007594 | 0.225 18.1 | 1.160
-156.8 242.4 | 0.450 | 0.007594 | 0.225 18.2 | 1.116

FORUMS8
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Sc = ta*b-d

S h=S — Sc
1.15+S  h-a
v = """
osa-*d
Sc : N)
Ta: (N/mm?)
= 1000(mm)
d : (mm)
S h: )
S : (N)
Aw  : (mm?)
a : (mm)
o sa: =180.0 (N/mm?)
(cm’)
Sc S*h ™m Ta
(kN &Ny | ) | v (cm) case
12.5 15.0 25.0 30.0
0.00| 0.00| 0.00| 0.00| —
0.00 0.00 0.00 0.00 | —
0.00 0.00 0.00 0.00 | —
164.7 33.8 0.689 0.572 0.94 1.12 1.87 2.25 1
0.00| 0.00| 0.00| 0.00| —
166.3 29.2 0.679 0.577 0.81 0.97 1.62 1.94 2
0.00 | 0.00| 0.00| 0.00| —
0.00 0.00 0.00 0.00 | —

FORUMS8
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10

10.1

1333 ‘ ‘ 1607
[ap] [ap]
3 &
N /
1649 1458
mm | D32 D32 D32 D32 D32 D32 D32 D32
mm | @300 @300 300 @300 @300 300 @300 @300
mm| (D32 ) | (D32 ) | (D32 ) | (D32 ) | (D32 ) | (D32 ) | (D32 ) | (D32 )
(1) Lm cm 0.0 27.4 0.0 36.9 25.0 22.5 26.6 7.5
) d cm 28.5 28.5 28.8 28.8 28.8 28.8 33.5 33.5
(3) Lap cm 96.0 96.0 96.0 96.0 96.0 96.0 96.0 96.0
cm| 124.5| 151.9 | 124.8 | 161.7 | 149.8 | 147.3 | 156.1 | 137.0
Lr cm 8.80 8.80 8.50 | 11.00 8.50 | 11.00 8.80 8.80
Le cm| 133.3| 160.7 | 133.3| 172.7 | 158.3 | 158.3 | 164.9 | 145.8
Lm
d
Lap 0]
D+@)+(3)
Lr
Le

FORUMS8
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10.2

mm | D32 D32 D32 D32
mm | @300 @300 @300 @300
mm | (D32 ) | (D32 ) | (D32 ) | (D32 )
(1) Lm cm 0.0 0.0 0.0 0.0
@d cm 28.5 28.5 33.5 33.5
) Lap cm| 96.0| 96.0| 96.0| 96.0
cm 0.0 0.0 0.0 0.0
Lr cm 8.80 8.80 8.80 8.80
Le cm 0.0 0.0 0.0 0.0
Lm
d
Lap 0
W-@-B)
Lr
Le

FORUMS8
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10.3

(m) (kMrm) (Mmm%9 (kMrm) (Mnm%§

0.000 -138.4 ~138.0 138.4 -138.0
0.200 -138.4 -111.6 138.4 -111.6
0.347 ~138.4 -93.4 138.4 -93.4
0.494 -138.4 -76.4 138.4 -76.4
0.641 -138.4 -60.4 138.4 -60.4
0.788 -138.4 -45.5 138.4 -45.5
0.935 -138.4 -31.7 138.4 -31.7
1.082 ~138.4 -19.1 138.4 -19.1
1.229 -138.4 7.5 138.4 7.5
1.376 -138.4 3.0 138.4 3.0
1.524 -138.4 12.4 138.4 12.4
1.671 ~138.4 20.7 138.4 20.7
1.818 ~138.4 27.9 138.4 27.9
1.965 -138.5 34.0 138.5 34.0
2.112 -138.5 39.0 138.5 39.0
2.259 ~138.5 42.9 138.5 42.9
2.406 ~138.5 45.7 138.5 45.7
2.553 ~138.5 47.4 138.5 47.4
2.700 ~138.0 41.9 138.5 48.0
2.847 ~138.0 38.1 138.5 47.5
2.994 ~138.0 33.4 138.5 45.9
3.141 ~138.0 27.6 138.5 43.2
3.288 ~138.0 21.0 138.5 39.4
3.435 ~138.0 13.3 138.5 34.5
3.582 ~138.0 4.8 138.5 28.5
3.729 ~138.0 4.7 138.5 21.4
3.876 ~138.0 -15.1 138.5 13.2
4.024 ~138.0 -26.3 138.5 4.0
4.171 ~138.0 -38.5 138.5 6.4
4.318 ~138.0 -51.5 138.5 -17.9
4.465 ~138.0 -65.4 138.5 -30.5
4.612 ~138.0 -80.1 138.5 -44.1
4.759 ~138.0 -95.6 138.5 -58.9
4.906 ~138.0 ~112.0 138.5 -74.8
5.053 -138.1 ~129.2 138.5 -91.8
5.200 -138.1 -147.1 138.5 -109.8
5.400 -138.1 -172.7 138.5 -136.1
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(m) (kMrm) (Mmm%9 (kNrm) (Mwm%§

0.000 ~140.5 ~138.0 64.6 -138.0
0.200 ~140.5 -112.1 64.6 -112.1
0.362 ~140.8 -91.9 64.9 -91.9
0.525 ~141.0 -72.6 65.1 -72.6
0.687 ~141.2 -54.1 65.3 -54.1
0.850 -141.4 -36.6 65.6 -36.6
1.012 ~141.7 -20.0 65.8 -20.0
1.175 ~141.9 4.4 66.1 4.4
1.337 ~142.1 10.1 66.3 10.1
1.500 ~142.3 23.5 66.6 23.5
1.662 ~142.6 35.7 66.8 35.7
1.825 ~142.8 46.8 67.1 46.8
1.987 ~143.0 56.6 67.3 56.6
2.150 ~143.2 65.1 67.5 65.1
2.312 ~143.5 72.2 67.8 72.2
2.475 -143.7 78.0 68.0 78.0
2.637 ~143.9 82.3 68.3 82.3
2.800 ~144.1 85.1 68.5 85.1
2.962 ~144.3 86.4 68.8 86.4
3.118 ~144.3 86.1 69.0 86.1
3.273 ~144.3 84.3 69.2 84.3
3.428 ~144.3 81.0 69.5 81.0
3.583 -144.3 76.1 69.7 76.1
3.738 ~144.3 69.6 69.9 69.6
3.893 ~144.3 61.4 70.2 61.4
4.049 ~144.3 51.4 70.4 51.4
4.204 ~144.3 39.7 70.6 39.7
4.359 -144.3 26.2 70.8 26.2
4.514 ~144.3 10.8 71.1 10.8
4.669 ~144.3 6.5 71.3 6.5
4.824 ~144.2 -25.7 71.5 -25.7
4.979 ~144.2 -46.9 71.8 -46.9
5.135 ~144.2 -70.2 72.0 -70.2
5.290 ~144.2 -95.6 72.2 -95.6
5.445 ~144.2 ~123.1 72.5 -123.1
5.600 ~144.2 ~152.7 72.7 -152.7
5.925 ~144.2 222.2 72.8 -222.2
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(m) (kMrm) (Mmm%9 (kNrm) (Mwm%§

0.000 ~137.7 172.7 61.5 -172.7
0.200 ~137.7 ~144.6 61.5 -144.6
0.362 -137.9 -122.4 61.8 -122.4
0.525 ~138.1 ~101.0 62.0 -101.0
0.687 -138.4 -80.4 62.2 -80.4
0.850 ~138.6 -60.5 62.5 -60.5
1.012 ~138.8 -41.6 62.7 -41.6
1.175 ~139.0 -23.6 63.0 -23.6
1.337 ~139.3 -6.7 63.2 6.7
1.500 ~139.5 9.2 63.5 9.2
1.662 ~139.7 23.9 63.7 23.9
1.825 ~139.9 37.5 64.0 37.5
1.987 -140.2 49.8 64.2 49.8
2.150 ~140.4 60.7 64.5 60.7
2.312 ~140.6 70.3 64.7 70.3
2.475 ~140.8 78.4 65.0 78.4
2.637 ~141.1 85.1 65.2 85.1
2.800 -141.3 90.2 65.4 90.2
2.962 ~141.5 93.7 65.7 93.7
3.118 ~141.7 95.4 65.9 95.4
3.273 ~141.9 95.6 66.2 95.6
3.428 ~142.2 94.2 66.4 94.2
3.583 ~142.4 91.1 66.6 91.1
3.738 ~142.6 86.3 66.9 86.3
3.893 ~142.8 79.7 67.1 79.7
4.049 ~143.0 71.3 67.3 71.3
4.204 -143.2 61.0 67.6 61.0
4.359 -143.4 48.9 67.8 48.9
4.514 ~143.7 34.7 68.0 34.7
4.669 -143.9 18.6 68.2 18.6
4.824 ~144.1 0.4 68.5 0.4
4.979 ~144.3 -19.9 68.7 -19.9
5.135 -144.3 -42.4 68.9 -42.4
5.290 ~144.3 -67.0 69.2 -67.0
5.445 ~144.3 -93.9 69.4 -93.9
5.600 ~144.3 ~123.1 69.6 -123.1
5.925 ~144.3 ~191.8 69.8 -191.8
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(m) (kMrm) (Mmm%9 (kNrm) (Mwm%§

0.000 -176.4 -222.2 176.4 -222.2
0.087 ~176.4 ~206.8 176.4 -206.8
0.200 -176.4 -187.3 176.4 -187.3
0.241 ~176.4 ~180.5 176.4 -180.5
0.394 -176.4 ~155.5 176.4 -155.5
0.548 -176.4 ~131.9 176.4 -131.9
0.702 ~176.4 ~109.5 176.4 -109.5
0.856 ~176.4 -88.5 176.4 -88.5
1.009 ~176.4 -68.8 176.4 -68.8
1.163 -176.4 -50.4 176.4 -50.4
1.317 -176.4 -33.4 176.4 -33.4
1.470 ~176.4 -17.8 176.4 -17.8
1.624 -176.4 -3.5 176.4 -3.5
1.778 ~176.4 9.3 176.4 9.3
1.931 -176.4 20.8 176.4 20.8
2.085 -176.4 30.8 176.4 30.8
2.239 ~176.4 39.4 176.4 39.4
2.393 ~176.4 46.5 176.4 46.5
2.546 -176.4 52.2 176.4 52.2
2.700 -178.4 54.5 176.4 56.4
2.854 -178.4 53.0 176.4 59.1
3.007 -178.4 50.1 176.4 60.3
3.161 -178.4 45.7 176.4 60.0
3.315 -178.4 39.8 176.4 58.2
3.469 -178.4 32.5 176.4 54.8
3.622 -178.4 23.6 176.4 49.9
3.776 -178.4 13.3 176.4 43.5
3.930 -178.4 1.4 176.4 35.4
4.083 -178.4 -12.0 176.5 25.8
4.237 -178.4 -27.0 176.5 14.5
4.391 -178.4 -43.5 176.5 1.7
4.544 -178.4 -61.6 176.5 -12.8
4.698 -178.4 -81.3 176.5 -28.9
4.852 -178.4 ~102.6 176.5 -46.7
5.006 -178.4 ~125.5 176.5 -66.2
5.159 -178.4 ~150.0 176.5 -87.3
5.200 -178.4 ~156.8 176.5 -93.2
5.313 -178.4 -176.2 176.5 -110.2
5.400 -178.4 ~191.8 176.5 -123.9
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“)
o ck | N/mm’ 30.00
Ec | N/mm’ 2.80x 10
o ca | N/mm’ 10.00
— SD345
o sa | N/mm’ 180.00
n —_— 15.0
70.0000
Yy kN/m* 19.00
® 30.0
11.1.2
@
t
Pah = AW« an
l1+tand * tanf
B=— — 05—
¢
§ = o 10.00 (FE)
Pah (kN)
AW (kN)
8s ()
0] =30.0 C )
5 )
SD = % (Pahi)
MD = Z (Pahi Li)
SD (kN)
MD
Li i
1
SD = 357.49 (kN)
MD = 683.29 (kN.m)
2)
SD = 417.29 (kN)
MD =  848.31 (kN.m)

(kN.m)
(m
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D

2)

AW Pah L Pah L
(m (m )| m (kN) (kN) (m (kN.m)
0.500 0.500 46.0 1.681 32.46 7.75| 5.324 41.27
1.000 0.500 44.0 2.044 40.81 11.14 | 4.824 53.73
1.500 0.500 43.0 2.406 51.80 15.03 | 4.324 64.98
2.000 0.500 41.0 2.769 59.70 19.38 | 3.824 74.11
2.500 0.500 40.0 3.131 70.74 24.20 | 3.324 80.43
3.000 0.500 40.0 3.494 86.09 29.45 | 2.824 83.17
3.500 0.500 39.0 3.856 97.72 35.13 | 2.324 81.66
4.000 0.500 38.0 4.219 109.32 41.23 | 1.824 75.22
4.500 0.500 38.0 4.581 126.54 47.72 | 1.324 63.20
5.000 0.500 37.0 4.944 138.38 54.65 | 0.824 45.05
5.500 0.500 37.0 5.306 156.87 61.95 | 0.324 20.09
5.574 0.074 36.0 5.514 23.89 9.86 | 0.037 0.37
AW Pah L Pah L
(m (m ) | m (kN) (kN) (m (kN.m)
0.500 0.500 46.0 1.681 32.46 7.75| 5.750 44.57
1.000 0.500 44.0 2.044 40.81 11.14 | 5.250 58.47
1.500 0.500 43.0 2.406 51.80 15.03 | 4.750 71.37
2.000 0.500 41.0 2.769 59.70 19.38 | 4.250 82.36
2.500 0.500 40.0 3.131 70.74 24.20 | 3.750 90.73
3.000 0.500 40.0 3.494 86.09 29.45 | 3.250 95.70
3.500 0.500 39.0 3.856 97.72 35.13 | 2.750 96.61
4.000 0.500 38.0 4.219 109.32 41.23 | 2.250 92.77
4.500 0.500 38.0 4.581 126.54 47.72 | 1.750 83.52
5.000 0.500 37.0 4.944 138.38 54.65 | 1.250 68.31
5.500 0.500 37.0 5.306 156.87 61.95 | 0.750 46.46
6.000 0.500 36.0 5.669 168.76 69.67 | 0.250 17.42
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@
L= —— .k
b as*b
K = tan’ (2 — %) = 0,3333
4 2
v2
sL = | (pL+LB-dy)
vl
ol = jf(pL 1B+ Lx + dy)
y (m
pL vy (kN/m?)
T (kN)
y (m
ao
a:DL-i-e-i-?-i- (D + y)-tanb
DL = 3.600 (M)
e = 0.000 (m)
ao = 0.500 (m)
= 0.125 (m)
D = 2.000 (m)
3] =45.0 ()
by (m)
b = bo 2 (D y ) tanf
bo = 0.200 (m)
K = 0.333
® =30.0 ()
LBy (m
Lx 'y (m
sL (kN)
mL (kN.m)
D
2.100 (m)
sL = = (sLi) = 9.28 (kN)
mL = X (mLi) = 17.59 (kN.m)
2)
2.100 (m)
sL = ¥ (sLi) =  10.74 (kN)
mL = = (mLi) =  21.85 (kN.m)
1
T yl sL mL
(kN) (m) (kN) (kN.m)
T11 100.0 1.350 7.01 14.38
T21 25.0 1.537 0.31 1.08
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T yl sL mL
(kN) (m) (kN) (kN.m)
T12 100.0 3.100 1.48 1.73
T22 25.0 3.287 0.05 0.10
T13 100.0 4.100 0.41 0.28
123 25.0 4.287 0.01 0.01
T14 100.0 5.850 0.00 0.00
T24 25.0 6.037 0.00 0.00
T15 100.0 6.850 0.00 0.00
T25 25.0 7.037 0.00 0.00
T16 100.0 8.600 0.00 0.00
T26 25.0 8.788 0.00 0.00
2)
T yl sL mL
(kN) (m) (kN) (kN.m)
T11 100.0 1.350 7.92 17.56
T21 25.0 1.537 0.31 1.21
T12 100.0 3.100 1.85 2.44
T22 25.0 3.287 0.05 0.13
T13 100.0 4.100 0.60 0.49
123 25.0 4.287 0.01 0.02
T14 100.0 5.850 0.00 0.00
T24 25.0 6.037 0.00 0.00
T15 100.0 6.850 0.00 0.00
T25 25.0 7.037 0.00 0.00
T16 100.0 8.600 0.00 0.00
T26 25.0 8.788 0.00 0.00
(©))
1)
= ﬁﬂlﬁ%?ﬁ@; . = 151.78 (kN.m/m)
SA = fﬂlﬁ%ifﬂi o’ = 79.42 (kN.m/m)
MA (kN.m/m)
SA (kN/m)
hA = 5.541 (m)
= 1.200
' = 1.200

FORUMS8
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2)
MD + ML
= —* @ = 178.49 (kN.m/m)
hA
SD + SL
SA=—+« o’ = 87.80 (kN.m/m)
hA
MA (kN.m/m)
SA (kN/m)
hA = 5.850 (m)
a = 1.200
a’ = 1.200
11.1.3
M KkN.m 151.8
S kN 79.4
b cm 100.00
h cm 40.00
dl cm 10.00
d2 cm 10.00
n — 15.0
Asr cm’ 32.827
mm D25 @150
D— @ —
As cm’ 33.780
mm D— @ —
D— @ —
As cm’ e
p —_— 0.01126
K — 0.436
C —_— 5.365
S —_— 6.935
X cm 13.086
ogc N/mm? 9.04
gs N/mm? 175.31
T N/mm? 0.265
oca| N/mn 10.00
osa| N/mn 180.00
Ta N/mm? 0.525
Ce —_— 1.400
cpt | —— 1.500
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11.1.4
M=M S’ L
M (kN.m/m)
W (kN_.m/m)
S’ (kN)
L (m
€))
M= 178.49 87.80 0.286 = 203.57 (kN.m/m)
M kN.m 203.6
b cm 100.00
h cm 70.30
d cm 60.30
Z cm 52.800
n — 15.0
Asr cm’ 20.631
mm D22 @150
D— 0 —
As cm’ 25.807
p — 0.00428
K —_— 0.300
C E— 7.414
S — 17.322
X cm 18.073
gc N/mm? 4.15
os N/mm? 145.37
oca | N/mn 10.00
o sa| N/mn 180.00
11.1.5
)
€Y
b cm 100.00
h cm 40.00
d cm 30.00
n —_— 15.0
mm D25 @300
As cm’ 16.890
oca| N/mn 10.00
osa| N/mm 180.00
Mr kN.m 81.0
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®
L m 1.835
hA m 4.519
MD kN.m 297.39
ML kN.m 7.53
M kN.m 304.92
MA | KN.m/m 80.96
SD kN 198.28
SL kN 5.20
S kN 203.47
SA kN/m 54.03
®
D25
Lo = 0.750 (m)
L =L Lo = 2.585 (m)

FORUMS8
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“)
o ck | N/mm’ 30.00
Ec | N/mm’ 2.80x 10
o ca | N/mm’ 10.00
— SD345
o sa | N/mm’ 180.00
n —_— 15.0
110.0000
Yy kN/m* 19.00
® 30.0
11.2.2
@
t
Pah = AW« an
l1+tand * tanf
B=— — 05—
¢
§ = o 10.00 (FE)
Pah (kN)
AW (kN)
0s ()
0] =30.0 C )
) )
SD = % (Pahi)
MD = Z (Pahi Li)
SD (kN)
MD
Li i
1
SD = 357.49 (kN)
MD = 683.29 (kN.m)
2)
SD = 417.29 (kN)
MD =  848.31 (kN.m)

(kN.m)
(m

FORUMS8
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D

2)

AW Pah L Pah L
(m (m )| m (kN) (kN) (m (kN.m)
0.500 0.500 46.0 1.681 32.46 7.75| 5.324 41.27
1.000 0.500 44.0 2.044 40.81 11.14 | 4.824 53.73
1.500 0.500 43.0 2.406 51.80 15.03 | 4.324 64.98
2.000 0.500 41.0 2.769 59.70 19.38 | 3.824 74.11
2.500 0.500 40.0 3.131 70.74 24.20 | 3.324 80.43
3.000 0.500 40.0 3.494 86.09 29.45 | 2.824 83.17
3.500 0.500 39.0 3.856 97.72 35.13 | 2.324 81.66
4.000 0.500 38.0 4.219 109.32 41.23 | 1.824 75.22
4.500 0.500 38.0 4.581 126.54 47.72 | 1.324 63.20
5.000 0.500 37.0 4.944 138.38 54.65 | 0.824 45.05
5.500 0.500 37.0 5.306 156.87 61.95 | 0.324 20.09
5.574 0.074 36.0 5.514 23.89 9.86 | 0.037 0.37
AW Pah L Pah L
(m (m ) | m (kN) (kN) (m (kN.m)
0.500 0.500 46.0 1.681 32.46 7.75| 5.750 44.57
1.000 0.500 44.0 2.044 40.81 11.14 | 5.250 58.47
1.500 0.500 43.0 2.406 51.80 15.03 | 4.750 71.37
2.000 0.500 41.0 2.769 59.70 19.38 | 4.250 82.36
2.500 0.500 40.0 3.131 70.74 24.20 | 3.750 90.73
3.000 0.500 40.0 3.494 86.09 29.45 | 3.250 95.70
3.500 0.500 39.0 3.856 97.72 35.13 | 2.750 96.61
4.000 0.500 38.0 4.219 109.32 41.23 | 2.250 92.77
4.500 0.500 38.0 4.581 126.54 47.72 | 1.750 83.52
5.000 0.500 37.0 4.944 138.38 54.65 | 1.250 68.31
5.500 0.500 37.0 5.306 156.87 61.95 | 0.750 46.46
6.000 0.500 36.0 5.669 168.76 69.67 | 0.250 17.42
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@
L= —— .k
b as*b
K = tan’ (2 — %) = 0,3333
4 2
v2
sL = | (pL+LB-dy)
vl
ol = jf(pL 1B+ Lx + dy)
y (m
pL vy (kN/m?)
T (kN)
y (m
ao
a:DL-i-e-i-?-i- (D + y)-tanb
DL = 3.600 (M)
e = 0.000 (m)
ao = 0.125 (m)
= 0.500 (m)
D = 2.000 (m)
3] =45.0 ()
by (m)
b = bo 2 (D y ) tanf
bo = 0.200 (m)
K = 0.333
® =30.0 ()
LBy (m
Lx 'y (m
sL (kN)
mL (kN.m)
D
-3.900 (m)
sL = = (sLi) = 8.91 (kN)
mL = X (mLi) = 16.39 (kN.m)
2)
-3.900 (m)
sL = 3 (sLi) = 10.37 (kN)
mL = = (mLi) =  20.49 (kN.m)
1
T yl sL mL
(kN) (m) (kN) (kN.m)
T11 25.0 1.537 0.00 0.00
T21 100.0 1.350 7.01 14.38

FORUMS8
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T yl sL mL
(kN) (m) (kN) (kN.m)
T12 25.0 3.287 0.00 0.00
T22 100.0 3.100 1.48 1.73
T13 25.0 4.287 0.00 0.00
T23 100.0 4.100 0.41 0.28
T14 25.0 6.037 0.00 0.00
T24 100.0 5.850 0.00 0.00
T15 25.0 7.037 0.00 0.00
T25 100.0 6.850 0.00 0.00
T16 25.0 8.788 0.00 0.00
T26 100.0 8.600 0.00 0.00
2)
T yl sL mL
(kN) (m) (kN) (kN.m)
T11 25.0 1.537 0.00 0.00
T21 100.0 1.350 7.92 17.56
T12 25.0 3.287 0.00 0.00
T22 100.0 3.100 1.85 2.44
T13 25.0 4.287 0.00 0.00
123 100.0 4.100 0.60 0.49
T14 25.0 6.037 0.00 0.00
T24 100.0 5.850 0.00 0.00
T15 25.0 7.037 0.00 0.00
T25 100.0 6.850 0.00 0.00
T16 25.0 8.788 0.00 0.00
T26 100.0 8.600 0.00 0.00
(©))
1)
= ﬁﬂlﬁ%?ﬁ@; . = 151.52 (kN.m/m)
SA = fﬂlﬁ%ifﬂi o’ = 79.34 (kN.m/m)
MA (kN.m/m)
SA (kN/m)
hA = 5.541 (m)
= 1.200
' = 1.200

FORUMS8
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2)
MD + ML
= —* @ = 178.22 (kN.m/m)
hA
SD + SL
SA = —+« o’ = 87.73 (kN.m/m)
hA
MA (kN.m/m)
SA (kN/m)
hA = 5.850 (m)
a = 1.200
a’ = 1.200
11.2.3
M KkN.m 151.5
S kN 79.3
b cm 100.00
h cm 40.00
dl cm 10.00
d2 cm 10.00
n — 15.0
Asr cm’ 32.771
mm D25 @150
D— @ —
As cm’ 33.780
mm D— @ —
D— @ —
As cm’ e
p —_— 0.01126
K — 0.436
C —_— 5.365
S —_— 6.935
X cm 13.086
ogc N/mm? 9.03
gs N/mm? 175.01
T N/mm? 0.264
oca| N/mn 10.00
osa| N/mn 180.00
Ta N/mm? 0.525
Ce —_— 1.400
cpt | —— 1.500

FORUMS8
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(m

11.2.4
M=M S’ L
M (kN.m/m)
W (kN_.m/m)
S’ (kN)
L
€))
M= 178.22 87.73 0.140 = 190.50 (kN.m/m)
M kN.m 190.5
b cm 100.00
h cm 48.80
d cm 38.80
Z cm 33.900
n — 15.0
Asr cm’ 31.295
mm D25 @150
D— 0 —
As cm’ 33.780
p — 0.00871
K —_— 0.397
C —_— 5.806
S — 8.817
X cm 15.405
gc N/mm? 7.35
os N/mm? 167.47
oca | N/mn 10.00
o sa| N/mn 180.00
11.2.5
)
€Y
b cm 100.00
h cm 40.00
d cm 30.00
n —_— 15.0
mm D25 @300
As cm’ 16.890
oca| N/mn 10.00
osa| N/mm 180.00
Mr kN.m 81.0

FORUMS8
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@
L m 1.831
hA m 4.522
MD kN.m 298.27
ML kN.m 6.86
M kN.m 305.13
MA | KN.m/m 80.96
SD kN 198.69
SL kN 4.87
S kN 203.56
SA kN/m 54.01
©)
D25
Lo = 0.750 (m)
L =L Lo = 2.581 (m)

FORUMS8
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